# Better Error Estimation for the mixed Szász Baskakov type operators

Honey Sharma<sup>1</sup>, Ramapati Maurya<sup>1, 2</sup>, Cheena Gupta<sup>1</sup>

<sup>1</sup>Deaprtment of Applied Science, Gulzar Group of Institutes, Khanna, Ludhiana, IKGPTU, Punjab, India

<sup>2</sup>Deaprtment of Applied Science, Manay Rachna University, Faridabad, Haryana, India

#### **Article Info**

Article history:

Received 13 August 2017

Received in revised form

28 October 2017

Accepted 5 November 2017

Available online 15 Devember 2017

Keywords: Szász Baskakov operator, Positive linear operator, Korovokin type approximation theorem, Modulus of smoothness, Lipschitz class, Peetre's type K –functional, Voronovskaya type theorem

**Abstract:** This paper introduced a generalization of mixed summation integral type operators with Szász and Baskakov Basis, so-called Szász Baskakov operator. Then the moment estimates of these operators have been obtained and the uniform convergence has been established. Further, the quantitative approximation and local approximation behavior of the operators has been studied using modulus of continuity and Lipschitz class function. Then, it has been proved that the rate of convergence of the proposed operators is better than their primitives. In the last section, r-th order generalization of modified operators has been introduced and their rate of convergence has been estimated.

#### 1. Introduction

Better error estimation of a linear positive operator is one of most important problem in approximation theory [1-5], which allows us much faster rate of convergence to the function being approximated [6-7]. Recently, some relating investigations were accomplished for Bernstein polynomials [8-9], Szász-Mirakjan operators [4], Meyer-Konig and Zeller operators [10], Bernstein Chlodovsky operators [1] and Szász-Mirakjan-Beta operator [3]. In this paper, investigate better error estimation for mixed Szász and Baskakov operator. In 2004, Gupta and Gupta [6] introduced the operator as

$$S_{n}(f;x) = (n - 1)\sum_{v=1}^{\infty} s_{n,v}(x) \int_{0}^{\infty} b_{n,v-1}(t)f(t)dt + e^{-nx}f(0), x \in [0,\infty).$$
(1.1)

where 
$$s_{n,v}(x) = e^{-nx} \frac{(nx)^v}{v!}$$
  
and  $b_{n,v}(t) = {n+v-1 \choose v} t^v (1+t)^{-n-v}$ .

are respectively Szász and Baskakov basis functions. Moreover 
$$S_n(f;x) = \int_0^\infty W_n(x,t) f(t) dt$$

$$W_n(x,t) = (n-1) \sum_{\nu=1}^{\infty} s_{n,\nu}(x) b_{n,\nu-1}(t) f(t) + e^{-nx} \delta(t).$$

 $\delta(t)$  being Dirac delta function. It can be easily observed that operators are linear positive operator and reproduce constant functions. The behaviour of these operators is much similar to operators introduced by Gupta and Srivastava in 1995 [12]. The basic difference between two operators is that operators (1.1) are discretely defined at point zero. Also, approximation properties of these two operators are different.

Recently, [7] Gupta and Erkus, obtain pointwise rate convergence, asymptotic formula and error estimation simultaneous approximation for the operator (1.1). In 2006, Sinha and Singh [11] estimates the rate of convergence for the operator (1.1) with functions having derivatives of bonded variation.

Lemma 1 [12] Let the function  $\mu_{n,m}(x)$ ,  $m \in \mathbb{N}^0 = \mathbb{N} \cup \{0\}$ , be defined as

$$\mu_{n,m}(x) = (n - 1) \sum_{\nu=1}^{\infty} s_{n,\nu}(x) \int_{0}^{\infty} b_{n,\nu-1}(t) (t-x)^{m} dt + e^{-nx} (-x)^{m},$$

Corresponding Author,

E-mail address: pro.sharma.h@gmail.com,

ramapatimaurya@gmail.com; guptacheena21@gmail.com

All rights reserved: http://www.ijari.org

$$\mu_{n,0}(x) = 1, \mu_{n,1}(x) = \frac{2x}{n-2}, \mu_{n,2}(x) = \frac{nx(x+2)+6x^2}{(n-2)(n-3)}$$
 also the recurrence relation:

$$(n-m-2)\mu_{n,m+1}(x) = x[\mu_{n,m}^{(1)}(x) + m(x+2)\mu_{n,m-1}(x)] + [m+2x(m+1)]\mu_{n,m}(x); n > m+2$$

consequently for each  $x \in [0, \infty)$ , this recurrence relation that  $\mu_{n,m}(x) = O(n^{-[(m+1)/2]}).$ 

Remark 1 It can be easily verified from lemma 1 that, for  $x \in [0, \infty)$   $e_i = t^i$ 

$$S_n(e_0;x) = 1,$$

$$S_n(e_1;x) = \frac{nx}{n-2},$$

$$S_n(e_2;x) = \frac{n^2x^2 + 2nx}{(n-2)(n-3)},$$
and in general, for  $x \in [0,\infty)$ ,  $n \in \mathbb{N}$  and  $n \ge i$ ,  $x \in [0,\infty)$ ,

$$S_n(e_i; x) = \frac{(n-i-2)!}{(n-2)!} (nx)^i + i(i-1) \frac{(n-i-2)!}{(n-2)!} (nx)^{i-1} + O(n^{-2}).$$

#### 2. Construction of Operator

This section, modify the operator for better error estimation such that linear function are preserved. First consider the Banach lattice

$$C_{\gamma}[0,\infty) = \{ f \in C[0,\infty) : |f(x)| \le M(1 + x)^{\gamma} forsomeM > 0, \gamma > 0 \}$$

endowed with norm

$$\| f \|_{\gamma} = \sup_{x \in [0,\infty)} \frac{|f(x)|}{(1+x)^{\gamma}}.$$

Clearly the set  $\{e_0, e_1, e_2\}_{is a} K_{+-subset of} C_{\gamma}[0, \infty)$  and the space  $C_{\gamma}[0,\infty)$  is isomorphic to C[0,1] (see [5]).

Define sequence  $\{r_n(x)\}$  of real valued continues functions on  $[0,\infty)_{\text{with}} 0 \le r_n(x) < \infty$ 

$$r_n(x) = \frac{(n-2)x}{n}.$$

 $r_n(x) = \frac{(n-2)x}{n}.$  Replace x in definition of operator (1.1) with  $r_n(x)$  . Therefore modified operator is given as

$$\begin{array}{l} S_n^*(f;x) = (n-1)\sum_{v=1}^{\infty} s_{n,v}^*(x) \int_0^{\infty} b_{n,v-1}(t) f(t) dt + \\ e^{-nr_n(x)} f(0), x \in [0,\infty), \end{array}$$

(1)

where

$$s_{n,v}^*(x) = e^{-nr_n(x)} \frac{(nr_n(x))^{\nu}}{v!}$$

 $s_{n,v}^*(x)=e^{-nr_n(x)}\frac{(nr_n(x))^v}{v!}$  and  $x\in[0,\infty)$  ,  $n\in\mathbb{N}$  , the term  $b_{n,v}(t)$  is baskakov basis.

$$S_n(f;x) = \int_0^\infty W_n^*(x,t) f(t) dt$$

where

 $W_n^*(x,t) = (n-1) \sum_{v=1}^{\infty} s_{n,v}^*(x) b_{n,v-1}(t) f(t) +$  $e^{-nr_n(x)}\delta(t)$ .

Lemma 2 For  $x \in [0, \infty)$  and  $n \in \mathbb{N}$  and N > 3,  $S_n^*(e_0; x) = 1,$   $S_n^*(e_1; x) = x,$   $S_n^*(e_2; x) = \frac{(n-2)x^2 + 2x}{(n-3)}.$ 

$$S_n^*(e_1; x) = \frac{x}{(n-2)x^2 + 2x}$$
  
 $S_n^*(e_2; x) = \frac{(n-2)x^2 + 2x}{(n-3)}$ 

For  $x \in [0, \infty)$  and  $n \in \mathbb{N}$ , n > 3 and with Lemma 3  $\phi_x = t - x$ 

$$S_n^*(\phi_x; x) = 0,$$
  
 $S_n^*(\phi_x^2; x) = \frac{x^2 + 2x}{n - 3}.$ 

By lemma 2, for h(t) = at + b, where a, b any real constants,  $S_n^*(h(t);x) = h(x)$  that is, operator  $S_n^*(f;x)$  preserves the linear function.

For fix c > 0 , define the lattice homomorphism  $H_c: C[0,\infty) \to C[0,c]$  defined by  $H_c(f) = f|_{[0,c]}$  for every  $f \in C[0, \infty)$ . Therefore, observe that, for each i = 0,1,2,

$$\lim_{n \to \infty} H_c(S_n^*(e_i)) = H_c(e_i) \tag{2}$$

uniformly on [0, c].

Theorem A (Theorem 4.1.4(vi) of [5]) Let X be a compact set and H be a confinal subspace of C(X). If E is a banach lattice,  $S: C(X) \to E$  is a lattice homomorphism and if  $\{L_n\}$  is a sequence of positive linear operators from C(X) in E such that  $\lim_{n\to\infty}L_n(h)=S(h)$  for all  $h\in H$ , then  $\lim_{n\to\infty}L_n(f)=f$ provided that f belongs to Korovkin closure of H.

Therefore by equation (2.2) and theorem A, directly get following

Theorem 1 For  $x \in [0, c], c > 0, S_n^*(f; x)$  converges uniformly on f(x) as  $n \to \infty$ , provided  $f \in C_{\gamma}[0, \infty), \gamma > 0$ .

### 3. Local Approximation Theorem

Let  $C_B[0,\infty)$  be the space of all real valued continuous bounded function f on  $[0,\infty)$ , with supreme norm defined as  $|| f || = \sup_{x \in [0,\infty)} |f(x)|.$ 

The K —functional is defined as

$$K(f,\delta) = \inf_{g \in W_{\infty}^2} \{ \parallel f - g \parallel + \delta \parallel g \parallel_{\mathcal{C}^2[0,a]} \}, \tag{3}$$

where

$$W_{\infty}^{2} = \{ f \in C_{B}[0, \infty) : f', f'' \in C_{B}[0, \infty) \}. \tag{4}$$

By [2], there exist a constant C > 0 such that

$$K(f,\delta) \le C\omega_2(f,\sqrt{\delta}), \delta > 0,$$
 (5)

second order modulus of continuity is given as  $\sup_{0 \le h \le \delta; x \in [0,\infty)} [f(x+2h) - 2f(x+h) + f(x)].$  (6)

Theorem 2 Let  $f \in C_B[0,\infty)$ , then for every  $x \in [0,\infty)$  and for

$$|S_n^*(f;x) - f(x)| \le C\omega_2(f,\delta_n), \qquad (7)$$

where  $\delta_n = \sqrt{\frac{x^2 + 2x}{n-3}}$ .

Proof. Let  $g \in W_{\infty}^2$ , by Taylor series

$$g(t) - g(x) = g'(x)(t - x) + \int_{x}^{t} g''(s)(t - s)ds$$
 therefore, by linearity and lemma 3,

$$|S_n^*(g;x) - g(x)| \le S_n^*(\phi_x,x) \| g' \| + \frac{\|g''\|}{2} S_n^*(\phi_x^2;x)$$

$$= \frac{x^2 + 2x}{2(n-3)} \parallel g^{\prime\prime} \parallel$$

hence

$$\begin{split} & |S_n^*(f;x) - f(x)| \leq |S_n^*(f - g;x) - (f - g)(x)| + \\ & |S_n^*(g;x) - g(x)| \\ & \leq 2 \parallel f - g \parallel + \frac{x^2 + 2x}{2(n-3)} \parallel g'' \parallel \end{split}$$

on letting  $\delta_n = \sqrt{\frac{x^2 + 2x}{(n-3)}}$ , taking infumum over  $g \in W^2_\infty$  and by property (3.3), get desired results.

# 4. Better Error Estimation

In this section, compute rate of convergence for new improved operator and prove that our improved operator has faster rate of convergence.

Recall the concept of modulus of continuity, the modulus of continuity of  $f(x) \in C[0, \infty)$ , denoted by  $\omega(f, \delta)$ , is defined by

$$\omega(f,\delta) = \sup_{|x-y| \le \delta, x, y \in [0,\infty)} |f(x) - f(y)| \tag{8}$$

The modulus of continuity possesses following properties (see [9])  $\omega(f, \lambda \delta) \le (1 + \lambda)\omega(f, \delta)$ 

Theorem 3 For every  $f \in C[0, \infty)$ ,  $x \in [0, \infty)$ ,  $n \in \mathbb{N}$  and n > 3.

$$|S_n^*(f;x) - f(x)| \le 2\omega(f, \delta_{n,x}),\tag{10}$$

where

$$\delta_{n,x} = \sqrt{\frac{x^2 + 2x}{n - 3}}. (11)$$

Proof. Let  $f \in C[0,\infty)$  and  $x \in [0,\infty)$ . By the linearity and monotonicity of  $S_n^*(f; x)$ , for every  $\delta > 0$  and n > 3, that

$$|S_n^*(f;x) - f| \le \omega(f,\delta) \left(1 + \frac{1}{\delta} \sqrt{S_n^*(\phi_x^2;x)}\right)$$

So, letting  $\delta_{n,x}=\sqrt{S_n^*(\phi_x^2;x)}$  and take  $\delta=\delta_{n,x}$ , the proof is complete.

Remark 2 For Szász-Baskakov operators (1.1), for every  $f \in C[0,\infty), x \in [0,\infty), n \in \mathbb{N} \text{ and } n > 3,$ 

$$|S_n(f,x) - f(x)| \le 2\omega(f,\alpha_{n,x}),\tag{12}$$

where

$$\alpha_{n,x} = \sqrt{\frac{nx(x+2)+6x^2}{(n-2)(n-3)}}.$$

error estimation in Theorem 3 is better than that for Szász-Baskakov operators given by (4.5), provided  $f \in C[0, \infty)$  and n > 3. Indeed, it is clear that for better error estimation, to just show that  $\delta_{n,x} \leq \alpha_{n,x}$ , which is as follows:

$$\delta_{n,x} \le \alpha_{n,x}, \text{ which is as In}$$

$$\delta_{n,x} \le \alpha_{n,x}$$

$$\Leftrightarrow \frac{x^2 + 2x}{n - 3} \le \frac{nx(x + 2) + 6x^2}{(n - 2)(n - 3)}$$

$$\Leftrightarrow 8x^2 + 4x \ge 0$$

which holds true for all  $x \ge 0$ . Hence our claim is true.

Now try to compute rate of convergence with the help of the elements of Lipschitz class  $Lip_M(\alpha)$ ,  $(0 < \alpha \le 1)$ .

As usual, a function  $f \in Lip_M(\alpha)$ ,  $(M > 0 \text{ and } 0 < \alpha \le 1)$ , if the inequality

$$|f(t) - f(x)| \le M|t - x|^{\alpha} \tag{13}$$

holds for all  $t, x \in [0, \infty)$ .

Theorem 4 For every  $f \in Lip_M(\alpha)$ ,  $x \in [0, \infty)$ ,  $n \in \mathbb{N}$  and n > 3

$$|S_n^*(f;x) - f| \le M \{\frac{x^2 + 2x}{n-3}\}^{\alpha/2}.$$
 (14)

Proof. Using lemma 3 and Hölder inequality with  $p=\frac{2}{\alpha}$ ,  $q=\frac{2}{2-\alpha}$ ,  $|S_n^*(f;x)-f|\leq S_n^*(|f(t)-f(x)|;x)$   $\leq MS_n^*(|t-x|^{\alpha};x)$  $\leq MS_n^*(\phi_x^2; x)^{\alpha/2} \\ \leq M\{\frac{x^2 + 2x}{x^2}\}^{\alpha/2}.$ 

Hence proof is completed.

Remark 3 For Szász-Baskakov operators (1.1), easily obtain that, for every  $f \in Lip_M(\alpha)$ ,  $(M > 0 \text{ and } 0 < \alpha \le 1)$  and  $x \ge 0$ ,

$$|S_n^*(f;x) - f| \le M \left\{ \frac{nx(x+2) + 6x^2}{(n-2)(n-3)} \right\}^{\alpha/2}.$$
 (15)

Therefore by argument as in Remark 2, prove that improved operator  $S_n^*$  by means of the element of Lipschitz class functional has better error estimation as compare to operator (1.1).

# 5. A Voronovskaya type theorem

In this section, prove a Voronovskaya type theorem for the operator  $S_n^*(f;x)$ .

Lemma 4 For 
$$x \in [0, c]$$
,  $c > 0$   $\lim_{n \to \infty} n^2 S_n^*(\phi_x^4, x) = 43x^4 + 12x^3$  uniformly.

Proof. By lemma 2 and simple computations, can write

$$n^2 S_n^*(\phi_x^4, x) = \frac{(43n^3 + 12n^2)x^4 + (12n^3 + 48n^2)x^3}{(n-3)(n-4)(n-5)}.$$

On letting limit as  $n \to \infty$ , get the result.

Theorem 5 For every  $f \in C_{\nu}[0,\infty)$  such that  $f', f'' \in C_{\nu}[0,\infty)$ ,  $n \in \mathbb{N}$  and n > 3, have

$$\lim_{n \to \infty} n\{S_n^*(f; x) - f\} = \frac{x(x+2)}{2} f''(x) \tag{16}$$

uniformly with respect to  $x \in [0, c], c$ 

Proof. For  $f, f', f'' \in C_{\mathcal{X}}[0, \infty)$  and  $\chi \geq 0$ , define

$$\Psi(t,x) = \frac{f(t) - f(x) - (t-x)f'(x) - \frac{1}{2}(t-x)^2 f''(x)}{(t-x)^2}$$
(17)

for  $t \neq x$  and  $\Psi(x,x) = 0$ . Then clearly  $\Psi(t,x) \in C_{\nu}[0,\infty)$ . Hence using Taylor's theorem, get

$$f(t) = f(x) + (t - x)f'(x) + \frac{1}{2}(t - x)^2 f''(x) + (t - x)^2 \Psi(t, x)$$

by lemma 3, can obtain

$$n\{S_n^*(f;x) - f\} = \frac{n}{2} \left(\frac{x^2 + 2x}{n - 3}\right) f''(x) + nS_n^*(\phi_x^2(t)\Psi(t,x);x).$$
(18)

By applying Cauchy-Schwarz inequality for the second term of above expression, can conclude

$$n|S_n^*(\phi_x^2(t)\Psi(t,x);x)| \le (n^2S_n^*(\phi_x^4(t);x))^{1/2}(S_n^*(\Psi^2(t,x);x))^{1/2}.$$

Let  $\eta(t,x)=\Psi^2(t,x)$  , can observe that  $\eta(x,x)=0$  and  $\eta(t,x) \in C_{\nu}[0,\infty)$ . Therefore by theorem 1,

$$\lim_{n \to \infty} |S_n^*(\Psi^2(t, x); x)| = \lim_{n \to \infty} |S_n^*(\eta(t, x); x)| = \eta(x, x) = 0$$
(20)

uniformly for  $x \in [0, c], c > 0$ . by equations (5.3) and (5.5), can

$$n\{S_n^*(f;x) - f\} = \frac{n}{2} \left(\frac{x^2 + 2x}{n - 3}\right) f''(x)$$
(21)

on taking limit as  $n \to \infty$ , in equation (5.6), get desired result.

## 6. r-th order generalization

First consider the space  $C_{\nu}^{(r)}[0,\infty), r=0,1,2\cdots$ , so

$$C_{\gamma}^{(r)}[0,\infty) = \{ f \in C_{\gamma}[0,\infty) \colon f^{(r)} \in C_{\gamma}[0,\infty) \}. \tag{21}$$

For r = 0,  $C_{\gamma}^{(0)}[0, \infty)$  considers with  $C_{\gamma}[0, \infty)$ .

Now consider  $r^{th}$  order generalization of positive linear operator  $S_{n,r}^*$  as

$$S_{n,r}^*(f;x) = (n -$$

$$1) \sum_{v=1}^{\infty} \sum_{i=0}^{r} s_{n,v}^{*}(x) \int_{0}^{\infty} b_{n,v-1}(t) \frac{(t-x)^{i}}{i!} f^{(i)}(t) dt + e^{-nr_{n}(x)} f(0), x \in [0, \infty),$$
(22)

where 
$$f \in C_{\gamma}^{(r)}[0,\infty)$$
,  $\gamma > 0$ ,  $r = 0,1,2 \cdots$  can easily observe that  $S_{n,0}^*(f;x) = S_n^*(f;x)$ .

The operator  $S_{n,r}^*$  can be written as

$$S_{n,r}^*(f,x) = \int_0^\infty \sum_{i=0}^r W_n^*(x,t) \frac{(t-x)^i}{i!} f^{(i)}(t) dt.$$
 (23)

Theorem 6 For all  $f \in \mathcal{C}^{(r)}_{\gamma}[0,\infty)$  ,  $\gamma>0$  , that  $f^{(r)} \in Lip_M(\alpha)$  and for every  $x \ge 0$ ,

$$|S_{n,r}^*(f;x) - f(x)| \le \frac{M}{(r-1)!} \frac{\alpha}{\alpha + r} B(\alpha, r) S_{n,r}^*(|t - x|^{\alpha + r}; x),$$
(24)

where r = 1, 2, ... and  $B(\alpha, r)$  is the beta function.

Proof. By defination of operator (6.3) and lemma 2,

$$f(x) - S_{n,r}^*(f;x) = \int_0^\infty W_n^*(x,t) \{ f(x) - \sum_{i=0}^r \frac{(t-x)^i}{i!} f^{(i)}(t) \} dt$$
(25)

Also by Taylor's formula,

$$f(x) - \sum_{i=0}^{r} \frac{(t-x)^{i}}{i!} f^{(i)}(t) = \frac{(x-t)^{r}}{(r-1)!} \int_{0}^{1} (1-s)^{r} (f^{(r)}(t+s(x-t)) - f^{(r)}(t)) ds$$
(26)

as 
$$f^{(r)} \in Lip_M(\alpha)$$
, therefore

$$|f^{(r)}(t+s(x-t))-f^{(r)}(t)| \leq Ms^{\alpha}|x-t|^{\alpha}$$
 using equations (6.6), (6.7) and definition of beta function, can

$$|f(x) - \sum_{i=0}^{r} \frac{(t-x)^{i}}{i!} f^{(i)}(t)| \le M \frac{|t-x|^{\alpha+r}}{(r-1)!} \frac{\alpha}{\alpha+r} B(\alpha,r)$$
 (28)

Finally by using equations (6.5) and (6.6), get desired result.

Theorem 7 For  $x \in [0, c]$ , c > 0 and every  $f \in C_{\nu}^{(r)}[0, \infty)$ ,  $\gamma>0$  , such that  $f^{(r)}\in Lip_{M}(lpha)$  ,  $S_{n,r}^{*}(f,x)$  converges uniformly on f(x) as  $n \to \infty$ .

Proof. Define  $g(t) = |t - x|^{\alpha}$  and  $x \in [0, c]$ , c > 0, by

$$\lim_{n\to\infty} S_{n,r}^*(g,x) = g(x) = 0.$$
 Finally results follows from Theorem 6.

### 7. Conclusions

This paper, introduced modification of mixed summation integral type operators with Szász and Baskakov Basis. Further, have proved that our operator has better rate of convergence. In last, have given r-th order gernalization of modified operator and study their rate of convergence.

### References

[1] O Agratini, Linear operators that preserve some test function, Int. J. Math. Math. Sci. Art I.D. 94136, 2006,11

RA DeVore, GG Lorentz. Constructive Approximation, Springer, Berlin, 1993.

[3] O Duman, MA Ozarslan, H Aktuglu. Better error estimation for Szász-Mirakjan-Beta operators, J. Comput. Anal. 4, 2008, 53-59.

[4] O Duman, MA Ozarslan. Szász-Mirakjan type operators providing a better error estimation, Appl. Math. Lett. 20, 2007, 1184-1188.

[5] F Altomare, M Campiti. Korovkin-type Approximation Theory and its Application, Walter de Gruyter Studies in Math., , de Gruyter and Co., Berlin, 17, 1994.

# International Journal of Advance Research and Innovation

- [6] V Gupta, MK Gupta. Rate of Convergence for certain families of summation integeral type operators, J. Math Anal. Appl. 296, 2004, 608-618.
- [7] V Gupta, E Erkus. On a Hybrid family of Summation Integeral type operators, J. Ineq. in Pure and Applied Math., 7(1), Art. 23, 2006.
- [8] JP King. Positive linear operators which preserve  $x^2$ , Acta. Math. Hungar. 99, 2003, 203-208.
- [9] GG Lorentz. Berstein polynomials, Mathematical Expositions, University of Toronto, Press: Toronto, 8, 1953.
- [10] MA Ozarslan, O Duman. MKZ type operators providing a better estimation on [1/2, 1), Canad. Math. Bull.50, 2007, 434-439.
- [11] J Sinha, VK Singh. Rate of convergence on the mixed summation integral type operators, General Mathematics, 14(4), 2006.
- [12] HM Srivastava, V Gupta. A certain family of summation integral type operators, Math. Comput. Modelling, 37, 2003, 1307-1305.